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0 O O 0O Male swans will engage in ferocious contests, with their
necks entwined as they attempt to cause mortal injure to each other.
The author mentions their necks entwined in paragraph 2 in order to
____Actoindicate that swans are really rather affectionate B.to
emphasize how long swans’ necks are C.to make the point that the
swans are only pretending to hurt one another D.to create a mental
iImage for the reader of fightingswans. 0 U O 0O 0O 0O 0O 0O 0O O O
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the same time, the death rate, too, was falling. Urban living led to



better sanitation, refrigeration, and water purification. it also resulted
In better medical care as doctors and hospitals were more readily
available. Most likely as a result of these factors, there were only
eleven deaths per thousand annually by the early 1920s, which was
half the rate of 1880s. why does the author mention better medical
care in paragraph 3? A.It helps to explain why the birthrate is
Increasing B.It is an example of a factor that contributed to the
Improved birthrate C.It helps to explain why the death rate is
Increasing D.It is an example of a factor that contributed to the
Improved death rate. 11 [1 0 I 0O O O O O O O medical carel] [
JO000o00o0oo0oodooooooooooooon
J000o00o0oo0oodooooooooooooon
Jodooobooooooobb200o0uoooooood
[ for example for instance such as like especially particularly
speciallyinparticular U D 0 O 00000000 ooooooo
oo o0oooooodd A BA---B---CAorBAwhichB
D00 o00ododoodoooobooooooooood
00O 000O O1Inmany species, members of the species exhibit
aggressive behavior toward one another, often with a focus on
territoriality, the fight for exclusive control of a particular area.(C] [
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author include the fight for exclusive control of particular area in
paragraph 1? A.It presents an argument against a previously stated
point B.It provides a definition of a previously stated term. C.It
presents a second area of focus of aggressive behavior. D.It



Introduces a new idea to be further developed in the paragraph. [ [
[ 0O 0O 0O O territoriality, the fight for exclusive control of a
particulararea. D 0 00000000000 OO0OOBO?2
Most bird species are known to be territorial to some degree, though
the territorial behaviors exhibited by most species are limited to
singing contests, which can go on for days or threatening postures
with wing lifted or extended. Why does the author mention singing
contests in paragraph 2? A.to demonstrate that birds create beautiful
sounds B.to provide an example of unusual behavior by birds C.to
show how violently aggressive some bird behavior is D.to
demonstrate that some types of territorial behavior are not very
aggressive.singing contests, which can go on for days or threatening
postures with wing lifted orextended. D O OO0 OO0 OO0 OO
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level of violence in territorial aggression varies widely from species to
species, though few species fight other members of the species to
death and instead rely on non-lethal contests for control of territory
that involves noise-making maneuvers such as roaring.(0 U O O [
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OO0000000 O ) Why does the author use the word instead
In paragraph 2 to show that information that follows A contradicts
what precedes it B expands upon what precedes it C provides an
example of what precedes it D explains an effect of what precedes it
Instead ] D 0D 00000000000 O0OO0OO0OOO
O 0O O 0O A QO 2 Unfortunately, Hubble telescope was initially
delayed in relaying its first pictures back from space due to a simple
mathematical miscalculation. Why does the author begin paragraph
2 with Unfortunately? A.it indicates that NASA has been unhappy
with all of Hubble’ s photograph. B.It shows that NASA’ s planto
use stars to orient the Hubble telescope was misguided C.It
emphasizes the need to have telescopes on Earth. D.It indicates that
high expectation were not initially met. Unfortunately,(] O [0 [J [
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